
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

4767, 1 × 0.001 = ________ 3676, 1 × 0.1 = ________

1921, 7 × 0.0001 = ________ 3600, 1 × 0.01 = ________

9351, 4 × 0.1 = ________ 6785, 6 × 0.1 = ________

8402, 1 × 0.1 = ________ 1593, 2 × 0.0001 = ________

7788, 8 × 0.1 = ________ 6901, 1 × 0.001 = ________

8879, 1 × 0.0001 = ________ 2073 × 0.001 = ________

2226, 1 × 0.01 = ________ 4326, 1 × 0.0001 = ________

4236, 5 × 0.0001 = ________ 9964, 1 × 0.001 = ________

5147, 1 × 0.1 = ________ 6174 × 0.01 = ________

8295, 2 × 0.1 = ________ 6940 × 0.001 = ________
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

4767, 1 × 0.001 = 4.7671 3676, 1 × 0.1 = 367.61

1921, 7 × 0.0001 = 0.19217 3600, 1 × 0.01 = 36.001

9351, 4 × 0.1 = 935.14 6785, 6 × 0.1 = 678.56

8402, 1 × 0.1 = 840.21 1593, 2 × 0.0001 = 0.15932

7788, 8 × 0.1 = 778.88 6901, 1 × 0.001 = 6.9011

8879, 1 × 0.0001 = 0.88791 2073 × 0.001 = 2.073

2226, 1 × 0.01 = 22.261 4326, 1 × 0.0001 = 0.43261

4236, 5 × 0.0001 = 0.42365 9964, 1 × 0.001 = 9.9641

5147, 1 × 0.1 = 514.71 6174 × 0.01 = 61.74

8295, 2 × 0.1 = 829.52 6940 × 0.001 = 6.94
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